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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) whremefl gdyem 3199 T9-u9 T AT Aferid: ford |

Candidates must write first his / her Roll No. on the question paper compulsorily.

2) Tft weH e FfER E |

All the questions are compulsory.

(3) TS T HT IAL < TS ITA-Yf&aeht B & ford |

Write the answer to each question in the given answer-book only.
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(4) T w1 W T @Ue €, 39 @t o I U 1 g ford |

For questions having more than one part, the answers to those parts are to be written

together in continuity.

(5) -9 o gl T 3Sh TR # fereft wepw 6t Ffe/ 3t/ fatremymg g9 W &g vy &y
! |l 7 |
If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

6) TUE I & 3 TAP T
A 1-11 1
Cl 12 -21 3
q 22 - 27 4
Q 28 - 30 5
Section Question Nos. Marks Per Question
A 1-11 1
B 12 -21 3
C 22 - 27 4
D 28 — 30 5

(7) I SRS 27 | 30 | 37Tk fashed 8 |

There are internal choices in Q. No. 27 to 30.
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SECTION - A

AR U g Fferd T=sirsH <hT 918 faIRaT |

Write the name of enzyme secreted by salivary gland.

e Th g 1 A e |

Write the name of universal donor blood group.

TehTed Hvft w1 T T fafaw |

Write General formula of alkyne series.

T fepatiare et (1 kWh) H S[e ATrehi <hi @@ feTfa |

Write joule units in one kilowatt hour (1 kWh).

T F9IReY forg Tsa | fRrd 8 2

Manali Sanctuary is situated in which state ?

% 6l Teh A 1 A1H fARaT |

Write the name of one Kharif crop.

forgar o Sg-ferfererar & $e o aa@ T 8 7

How many hotspots of biodiversity are in the world ?
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8. AT HIYA 9Tt I3 o1 91H fIRead |

Write the name of instrument which is used to measure the blood-pressure. 1

9. Wl gy H R S aret Wicaft 1w fafa |

Write the name of an antibody present in mother’s milk. 1

10. 7Y THRATIERIERAT UTT o SR T i & 1ok T IUANT fehall AT 8 2

Which vaccine is used in the treatment of erythroblastosis foetalis ? 1

11. U g uerd o gum s o fafir= =meres ari & STy -1e % 9% (A) Td IfeliY & e

% (IRQ) d-18Y |

Draw graph between area of cross-section (A) and resistance of different conducting

wires which are made by same material having equal length. 1

g —§

SECTION - B

12. 9t 3 ST foad e Sfead o8 ad & ? fohal ol wIfdael ol aHgmsy |

What are internal tectonic forces of earth ? Explain any two forces. 1+2=3

13, Sftered o8 Hgd 2 7 AHE IR H 9T ST ST G 3TeRINET o T [TRaT |

What is fossil ? Write the name of two vestigial organs found in human body. 1+1+1 =3
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14, ¥RA % YUH 3=q1&T I T A9 TARIT | YR g0 Bi T 3UUE! sl Hewd JHETEY |

Write the name of first spacecraft of India. Explain the importance of satellites launched
by India. 1+2 =3

15. (31) varE forgerses gra sk | fohat 9T § Ueshiged T SITT &, df evedia g ?
(9) “weh gan fen” o famg3il =l wmes |

(a) What quantity of alcohol in body is required for punishment when measured by

breath analyzer ?

(b) Explain the points of “Road Safety Education”. 1+2 =3

16. (31) TSt I8 Q1 i o A fafem |
(9) TR H IR S ATl Toehal 198 ol ATH TTfay |

(|) TR F9H g aTel g il e |

(a) Write any two diseases caused by virus.

(b) Write the name of alkaloid found in tobacco.

(c) Write two harmful effects of chewing tobacco. +th+t1+%+1%2=3

17. Tratafaa @ +1E w 3w fafeu -

(31) YTcH Td FRUTTeHe I

(F) SHI-3TTee Td faga-3veed

(|) HohoW wd foemas stffsran

Write any one difference between the following :
(a) Positive and Negative catalyst.

(b) Thermolysis and Electrolysis.

(c) Addition and Replacement reaction. 1+1+1=3
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18. M W U AT AT ¢ ? TSI aTi+eh! o & TY@ Tehi o AT foAfam |

What is the meaning of Jhoom cultivation ? Write two main components of social

forestry. 1+1+1=3

19. ‘famsa 99’ & 9™ 9 fv8 ST A1 2 ? ©F. U= 2] ol a9Eatd foe | I falau |

Who is known as Missile man ? Give the role of Dr. Panchanan Maheshwari in field of

botany. 1+2=3

20. Tr=fafea Jfiest o TUPAC 9™ fafaw

Write [IUPAC names of the following compounds :

(a) CH,— c| = CH,
CH,

(b) CH,-CH =CH - CH,

(©) CH3—(|JH—CH2—CH3 1+1+1=3
Cl

21. YUfE fr8 gd & ? STUNRE IaUH o 2 dliehl ol GHE |

What is waste ? Explain two methods of waste management. 1+1+1=3
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SECTION - C
22. (37) W i % a1 AW [ |
(9) AYTHRET -1 | ITH & 3cara) o faRa |
(|) W i G ®F 1 9T ST 11 & 7

(a) Write the name of silk worm Larva.
(b) Write the two products of Apiculture.

(c) How the thread of silk is made by silk worm ? 1+%+%+2=4

23. Hord THUI HT 2 ? I6 F, HIE1 1 TR0 THT TR STk & HUAT 11 3, q1 I Fard
H FEI0-TEY I ST - & 37T i TS |

What is reciprocal cross ? Explain the phenotypic and genotypic ratio obtained in

offsprings, when F, generation is crossed with Homozygous dominant parents. 1+3=4

24. (31) forstn 9ol o1 g3 Toifaw | seht foreta foman <6l Tmemmsy |

(§) Zn 91g 3! 7 H,SO, § T aTelt THE(H ST1fsRaT o1 AHifhd o S1sY |

(a) Write formula of bleaching powder. Explain its bleaching process.

(b) Draw labelled diagram of chemical reaction of Zn metal with dilute H,SO,. 2+2=4
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25. (37) 379 % Fom =1 TN Hd G0 Teh Yeeh FEATTHR € ST ITed hidl @

. 9. et aIgATH Aceriet ueATH
(1) 0.50 TR 29
(ii) 0.75 TEfRR 39l

Tk Y&I0T o foTU ITeTeh R o1 TTaie [Td shiTT |

@) 25 Q I ATEHm H TRy FUSe i 12 Tlee b T qa (dell) ¥ Sied & @ 390

15 Tiee oo Tora o anfed <l STt & | Huselt § Sca~1 SSHT b1 I HTd hiteTd |

(a) An observer takes two observations as given below, while performing Ohm’s law

experiment :
S.No. Ammeter reading Voltmeter reading
(1) 0.50 Amp. 2 Volt
(11) 0.75 Amp. 3 Volt

Determine resistance of conducting wire for each observation.

(b) Nichrome resistance coil of 25 Q is connected with 12 Volt accumulator cell

(Battery) and current flows through it for 15 minutes. Determine heat produced in

this coil.

2+2=4

26. (31) 40 kg 1 T I&] W Th a1 T T THHT AT | WX /THUE | Fgaht 2 Wi /THUg &l

a1 8 | 91 g femar R w3 Shif |

@) K =4 x 103 N/m & fams i v & =i 2 9t wdfifed e 3 f&m & gfba feufas

Il AT HIT |
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(a) A force is applied upon a body of 40 kg then its velocity increases from

1 metre/second to 2 metre/second. Determine work done by the force.

(b) A spring of spring constant K = 4 x 103 N/m is compressed by 2 ¢cm then determine

potential energy stored in spring. 2+2=4

27. Sa-fafaedar ford gd § 7 @M 9 9fg T g9 ) g9 |

What is Biodiversity ? Explain the in-situ and ex-situ conservation. 2+2=4

3IYET/OR

ek fafaad w8 ? Sa-fafagar @ehe & g1 Hrol S Ty |

What is the genetic diversity ? Explain two reasons of threats to biodiversity. 2+2=4

Tug — ¢
SECTION -D

28. (31) voEA fra wgd @ ?

(§) HHe Y999 a3 bl ATH1hd e ST |
(@) e 6 Tspanferfer vmemsy |

(a) What is respiration ?
(b) Draw a labelled diagram of human respiratory system.
(c) Explain the mechanism of respiration. 1+2+2=5

JYET/OR
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(31) HTer3T § Tfiyes fireh 377 s 91 fIfRau |

() HTeT S df kT ATH1hd Tt ST |
(") HFE IS hl @ ST <l g9y |

(a) Write the name of primary sex organ in female.
(b) Draw a labelled diagram of female reproductive system.

(c) Explain two phases of human reproduction. 1+2+2=5

29. (31) 3Tad gl T ford sctier o deal Iiad] Hisiehdl Jeiid sid & ?

(§) VIR T TR 3T T T & T8Il 8, T ?

(d) CaH,, NaH, SiH,, A/H,

3I9UH ARl § Ca, Na, Si a1 A/ <hl GISTehdT SaT3d |

(a) Elements of which block shows variable valency in periodic table ?

(b) Why size of anion is greater than its atom ?

(c) CaH,, NaH, SiH,, A/H,
Give valencies of Ca, Na, Si and A/ in the above compounds. 1+2+2=5

JYa1/OR

(37) Toregi <t JueTgati o 8 fRaT |

(&) Topelt amrad & o1& & g S W W] AR fRE YR uftEfda g 8 ¢ sRor |t
T |

(|) FRGd Tl sl 3 @ §U ILHIY] TR oh S H S € hITT :
Na, Cs, Li, K
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(a) Write names of any two metalloids.

(b) How does atomic size changes on moving from left to right in a period ? Explain

with reason.
(c) Arrange the following elements in the ascending order of their atomic size :

Na, Cs, Li, K 1+2+2=5

30. (31) FCT § $S 99T Ugel Ud G < $S 0T WA db §I [GE@E <l 8, HRU T
HIfT |

(§) oI JehraT < vt faraaur & s T B 2
(|) TohT9T o QU1 TT=A1eh TEa & 91 aTead 8 7

() Ueh el i I Tl ol ST, T b1 Tohtu1 forst w18, Seifer formar 319 w9 30
TRITTER 5 <O’ o Hed a3 |

(a) The sun is visible a little before the actual sun rise and a little bit after the actual
sunset. Explain the reason.

(b) What does mean by the dispersion of white light ?

(c) What does mean by the total internal reflection of light ?

(d) Draw ray diagram for image formation by concave lens when the object is placed

between infinity and optical centre ‘O’. 1+1+1+2=5

3IYAT/OR
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(31) aft & R Bl % e T 3Tk goft gg b1 it foredt fewmd h 2, i 2

(F) <\ i G & A1 AT & P

(F) A A H g AT U AR ?

(T) Ueh 37deT uul § Ufdfer sl ST, <1+ o1 fohtur T sATs, STeifeh fora s&eh ashal
%5 ‘C’ I BT F o e R |

(a) A pencil partly immersed in water in a glass tumbler appears askew why ?

(b) What does mean by the power of a lens ?

(c) What is astigmatism in human eye ?

(d) Draw ray diagram for image formation by concave mirror when object is placed

between centre of curvature ‘C’ and focus ‘F’. 1+1+1+2=5
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